Séquence de Nombres Linéaires (A)

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
989 914 839

Différence commune:

! ! !
780 790

Différence commune:

! ! !
978

Différence commune:

! ! !
8 83 158

Différence commune:

Différence commune:

! ! !
830 755 680

Différence commune:

! ! !
131 156

Différence commune:

! ! !
439 489 539

Différence commune:

789 839
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Séquence de Nombres Linéaires (A) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
989 914 839

764 689 539 464 389 314
Différence commune: -75
I I I I I I I I I I
780 790 800 810 820 830 840 850 860 870
Différence commune: 10
| | | | | | | | | |
| | | | | | | | | |
978 878 778 678 578 478 378 278 178 78
Différence commune: -100
| | | | | | | | | |
| | | | | | | | | |
8 83 158 233 308 383 458 533 608 683
Différence commune: 75
| | | | | | | | | |
| | | | | | | | | |
715 720 725 730 735 740 745 750 755 760
Différence commune: 5
I I I I I I I I I I
830 755 680 605 530 455 380 305 230 155
Différence commune: -75
| | | | | | | | | |
| | | | | | | | | |
131 156 181 206 231 256 281 306 331 356
Différence commune: 25
I I I I I I I I I I
439 489 539 589 639 689 739 789 839 889
Différence commune: 50
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